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BL(3)
0. 8X0. 4= 0. 9X0. 5= 0. 7X0.09=
3.2X0.4= 2.2X0.6= 4,1X0. 7=
1.2X0.7= 1. 3X0. 6= 2.4X5=
0.125X0. 8= 0. 25X0. 04= 0.35X2=
2.9X0. 2= 3.7X0. 2= 4, 8X0. 2=
§X1. 2= 9X0.11= 70X0. 11=
20X 1. 4= 40X1. 3= 50 X0. 14=
0. 318 X1000= 0. 014 X100--10= 304, 5100 X10=
200. 5+—100= 410. 6+—100= 0. 052 X1000=
0. 11 X80= 0. 33X30= 0.44X0. 2=
2.4X0.4= 4,5X0. 2= 6. 5X3=
2.02X4= 3. 14 X0. 2= 2. 08X 4=
200X0. 06= 400X0. 09= 700 X0. 02=
3. 14 X20= 2. 26 X10= 3. 05X 7=
0. 113X20= 0. 112X40= 0. 808X 2=
R B B i
JREliN) I b, B L

VAR 694,



W REBABB  WERSCET (BS)

FmF(1)
0.2X7.56X0.5=7.56X(_|x[ D= 3. 7X2.5X4=
1.83+3.79+0.17=[ |+ |+3.79= 5. 5547, 9+0. 45=
10—0.34—0.66=10—( _|+[ D= 2—0. 44—0. 56 =
0.25X0.32X4=0.32X(_|X| D= 5X 11, 8X0, 2=
9.8543.2446.76=9.85+( |+ D= 7.5440. 88+0. 12=
4.2—0.9—0.1=4.2—(_|+[ D= 23.1—0.4—0. 6=
7.6X1.25%0.8=7.6xX (| _|x[ D= 0.125X12X 8=
5X7.89%0.2=( |x[ x7.89= 53.2X0. 25X 4=
11—0.37—0.63=11—(_|+[ D= 1—0. 63—0. 37=
5.99+0.87+0.01=] |+| |40.87= 4. 8+0. 5540, 2=
54X 2. 5X4=54X(_|X[ D= 2.33X2,5X0, 4=
1.25%0.11x8=] X[ |xo0.11= 7.6X0. 125X 8=
0.2X23.9X5=[ |x[ |x23.9= 4.8X0.5X2=
112X0. 25x4=112X(|_[x[ D= 3.3348. 79+0. 67=
3.8—0.35—0.65=3.8—( |+| D= 0.5X22. 7X 2=

R B B i
Ji 2 B, X,

u]
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= /NG

FIRF(2)
(84+0.8)X1.25=1.25X| |+1.25%[ |= 9 5% (440, 4)—
1.2X2.540.8%X2.5=2.5x(_|+[ D= 1. 6X7+1.6X3=
3.2X4,643.2X5.4=3.2X(_ |+ D= 72X 1. 2428X 1, 2=
0. 89X99+0. 89=0. 89X (| |+ h= 8% (1.2546)=
8X(2.5+1.25)=8X| |+8X| |= 99X 1. 5+1. 5=
0. 25X (4+8)=0.25X[ |+0.25%[ |= 1. 9X60+1. 9X40=
2.9X7+3%2.9=2.9x( |+ D= 3. 71X 2. 5X4=
74X9F7.4=7.4X(_ |+ D= 4. 7+5. 240. 8=
0. 65X (100+1)=0.65X| |+ | = 5.11—0.3—0. 7=
0. 54X 284-0. 46 x28=28 X (| |+ D= 0. 39X (100+1) =
(0.540.25) X4=] |x4+] |x4= 2. 6X6F4X2, 6=
9.9X0.840.2x9.9=9.9x( |+ D= 1 17X67433X1. 17=
L6X17+3X1.6=16x( |+ = 18 0. 38+0. 62X 18=
6. 70, 14+3. 3X0. 14=0. 14X (| |+ D= 2. 29X 58442 X2. 29=
0. 89X (141000 =0.89x[ |+ |= 99X0. 24+0. 24=
R B B i
Jint 2 B, xb

aXbta=aX(b+1); aXb—a=aXb—1), E@



SN DADOB0H WA TES)

F 3 F(3)
3.5X2X1.2= 3.6X101—3. 6=
3.0X1.2X2= 3.6X9+3.6=
1. OX2X33= 8X1.25+6=
1. 5X33X2= 8§X1.25—6=
4,5X2X0.9= 10—4.5—5.5=
4,5X0.9X2= 10— (4. 5+5.5)=
0. 25 X2X7= (4+0.4) X0, 25=
0. 25 X7TX2= 9.6 X101—9. 6=
0.15X2X14= 9.6X99+49. 6=
0. 15X14X2= 4. 5X91+4. 5X9=
3.9X0.2X11= 4,5X13—4.5X3=
3.5X11X0. 2= 9. 6X60+9. 6 X40=
0.25X2X9= 7.8X60—7.8X50=
0.45X8X2= 0.75X101—0. 75=
0. 15X9X2= 8.6X43—8.6X33=

R i iillllil
JREliN) I B, BXF




= /NG

F 3 F(4)

0.5X0.6—0.1= 0.9X0.9—0.5= 0.12X0.8+10=
0.740.9X3= 0.1240. 2X7= 3—0.6X0.7=
7.25+1.9+40.75= 0. 8440, 78+0. 16= 0.96+1.87+0. 13=
5—3.8—1.2= 1—0.27—0.73= 2.5—0.22—0. 28=
(4+0.4) X2.5= (80+8) X0. 125= (4+2) X0, 25=
0.78X5.9+0. 78 X4, 1= 5.2X8, 4+4.8X8. 4= 7.3X3.2-+7.3X6.8=
0.775X101—0. 775= 29X0. 15+0. 85X29= 2.7X3.5+6.5X2. 7=
3.6X0.8—3.6X0.7= 20. 6X99+20. 6= 50. 8 X101—50. 8=
0. 3X0.840.5= 0.7X0.740.01= 0.5X0.5+40. 3=
10X0. 79—0. 9= 200X0. 13—5= 400 X2.1—20=
0.65+3.84+0. 16= 1.5—1.2+1. 2= 0.7+6.54+0.5=
2.2+0.88+40. 8= 10—5.26—4.74= 5—1.53—0.47=
0. 25 X17X4= 0. 15 X1.2X2= 0. 25 X8 X4=
0. 87X994-0. 87= 0.011X999-+0.011= 0. 89X99-+0. 89=
0. 15X0. 4 X2= 3. 5X8X0, 2= 4, 5XT7TX2=

R B B i

JREliN) I b, B L




. 14X0. 2=

L4X2=

.08 X 4=

L.03X 1. 5=

L7X0. 11=

. 6X0.3=

12X 3=

. 8X60=

12X 3=

.17X0. 5=

L32X3=

.89 X0. 1=

.AX20=

[ &[] 2] > VUAEZR 2 T (BS)

#3)=
9.3X5X0.02= 26 X12=312
3.9+77.6+6.1= 2.6 X12=
0. 125 X11. 7X8= 26 X1. 2=
9—1.77—7.23= 0. 26 X12=
9.76X99+9. 76 = 0.026 X12=
3.1X9.346.9X9. 3= 260X1. 2=
18X1. 6+8.4X18= 2.6X1.2=
(12.5+1. 25) X8= 2.6X0.12=
1. 25X 89. 6 X0. 8= 0. 26 X1. 2=
0. 125X0. 03X 8= 0.26X0.12=
10. 5X99+10. 5= 2600, 12=
0.5X984-0.5X2= 0.26X120=
0.3X1984-0. 3X2= 0. 026 X1. 2=
21. 6 X101—21. 6= 0. 026 X0. 12=
0. 54 X87+4+13X0. 54= 2.6X0.012=
JH g Bh, BRSO




= /NG

BIBA>I(2)
- ﬁ 07 - A Sy —
SR~ Wit A
At S BORk R  RR P — ANE BB R A AR R XL T A

Bt SRR
T 5%, 2=2, 5X4X0, 3=10X0, 3=3

I

7.5X1. 4=7.5X2X0. 7=15X0. 7=10. 5

B
AR
2.5X3.6=2.5X( YX( )=( 12, 5X5. 6=
1.25X7.2=1.25X( H)X( H)=( ) 0.25X1, 6=
5.5X1.2=5.5X( )X( )=( ) 1.25X2. 4=
3.5X1.6=3.5X( )X( )=( ) 1.5X2. 6=
2.5%2.4=2.5X( I)X( H)=( ) 3.5X1. 4=
12.5%3.2=12.5X( I)X( )= ) 4.5%1, 6=
1.5X3.4=15X( )X( )=C ) 1. 25X 88—
7.5X1.2=7.5X( Y)X( )=( 9. 5X 4. 4=
4.5X1.8=4.5X( HYX( H)=(C ) 1. 25X 4, 8=
6.5X1.2=6.5X( IX( H)=C ) 0. 25X 8. 8=
R B B i

s 43 INESTH

A HoAn fe vy 7 XAkt SR AR



AN 9RRO080B  WAENRET(BS)

0.9X0.5= 3. 8X4= 2.3><O.4©2.3
1. 38 X9+1. 38= 1.39X0. 5X2= O.l><8©8
0.12X2= 2.84X99+2. 84= 1_2><4OO4O
0. 08X 3+7= 0. 5X0. 69X 2= 0.3%0. 40 1.2
0. 087 X 1000= 13X0. 07= sx1.10)8
7.891X0= 450, 01= 7. 98000
0. 125X 7X8= 6. 03X 2= 095202
7X2.5+3X2.5= 1. 43X 1. 25X 8= 1.5%30)5
34X 4K 2, 5= X2, 542, 5X20=
5. 34X 4X2.5 80X 2.5+2. 5 0.9%0.010)9
0. 7X0.6—0. 3= 0. 25X0. 24X 4=

0.52x2())1
44-2.1X3= 5.3X0. 1+12=

0.12x4()4. 8
0. 90, 3X10= 4—(0.9—0.3)=

0.7X6()7X0.6
0. 99X99-+0. 99= 9X1.1—7.2=

100<0. 3( ) 300
1. 22X 4= 4.87X9+4.87=

8.2x0.1()82x0.1
R B B i

JHF I (DS N -8

AL N Fooh 312 SR AR,
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1.05

17T R

20

% 18 W

14.6

14.6

104. 6
10. 28
1.762
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2.33
102. 4
10. 35

1,481

# 19|
1. 43

1. 64
125.2
1001. 25
2. 004
2.31
1.76
120. 6
1010. 59
2.331
160. 7
1024. 4
5.555
%20 m
3.6

1

(=2}
ol

0.78

3.05

1. 74

1.22

103. 6

1021. 5

2.094

4.51

2.55

130. 3

1004. 6

2.641

3.85

1009. 4

9.555

10. 5

j<2i
wl

2.78

2.67

134°

- 180°
180°
180°
180°
180°
180°
180°
180°
180°
180°
180°
180°

1 180°

vVovov

VoA VAV VA A ALY

%237

180°

180°
67°
180°
23°

180°

VoA A VY

A Y

VoV

36

64

SHER

35° <
180° <
80° <
180° <
55° >
36° <
20° =
180° >
45° >
60° =
25° <
180° >
%24 |

4.5 2.7
1.6 4
4.9 1.4
0.3 2.5
2 1.6
0.6 0.9
7.2 1.4
1.2 1.8
6.3 2.4
1.8 2.4
6.4 3.6
0.4 2.1
8.1 4.2
3.6 0.2
3.5 2.7

i
S
an
=

3.6 2

6.4 0.5
6 5.4
5.2 3.6

71



72

69

68

126

152

84

34

48

48

45

56

78

2.05

20.5

205

2050

362

3620

36200

706

7060

70600

687

6870

68700

32

3.2

3.2

0.32

42

6.9

6.8

% 26

60. 3

0. 603

0. 0603

0.21
0.021
0. 0021
1.08
0. 108
0.0108
0. 00108
0. 1009

0. 01009

10

0.4

14

5.2

3

0.4

15

12. 4

5.4

4.6

9.4

0. 205

12.01

0.0038

10. 1

73

301

2.21

0.02

50

901

0. 887

119

703

0. 001009 996

%21 |

0. 052

75

0. 024

8.8

54.2
"
3 0.42
o

o

7.2
0,072

10,015

3 8. 64

% 8. 64

3 0. 864
% 0. 864
%0.0864
% 0. 864
30.0864
% 0. 864
%0.0864

- 0.00864

»
3124
3 112
96
246
o

72

L maeanen

7.5
0.75
0. 075
99

9.9

0. 099

0. 99

0. 84

0. 084

% 28|
35

35

3.5

0. 35

0.035

0. 0035

0..000864 0. 00035

%29 W
0. 048
0.124
0.112
0. 96
0. 246
0. 092

0.072

VUAEZRHF b (BS)
0. 39 P72 0.72
0. 45 3 128 0.128
0.78 3 96 0. 096
0.21 § 219 2.19
0. 09 3 58 0.58
1.55 § 88 0. 088
21.6 % 68 0. 68
48.6 3 105 1.05
35.7 § % 30 |
18.9 % > <
§:> >
1.2 % < <
0.12 §:> <
0.012 3 < >
12 3 > >
1.2 % < <
0.12 §:> <
L3 3 < >
0.13 §:> >
0.013 % < <
13 §:> >
13 3 < =
L3 % < <
12 § > <
1.2 %31 7
§28 0. 42
0. 36 36.3 0. 42
0. 28 3 1.9 0.19
0. 84 %4.6 0. 14
1 § 6.6 0. 44
0. 004 § 6.2 0. 62
0.2 328 0. 56
0 3&4 0. 42

g o

0. 048

0. 196

0. 084

0. 048

0. 039

1. 44

A

A

A

3.22

6.72

2.09

2.94

7.04

6. 82

3. 36

8.82

345
%88

155

0.84

9.6
28
318

L 2,005

0.52
0.41

0. 24

%327
640
330
48
510
620
54
63
88
540
970
280
280

280

4. 106

3.12

8.61

3.84

32

460

97

10

0. 248

0. 063

30. 45

52



8.8 9.9

0.96 0.9

8.08  0.628

12 36

62.8  22.6

2.26  4.48
34 m

0.2,0.5,0.756
1.83,0.17,5.79
0. 34,0.66,9
0.25,4,0.32
3.24,6.76,19. 85
0.9,0.1,3.2
1.25,0.8,7. 6
5,0.2,7.89
0.37,0.63,10
5.99,0.01,6. 87
2.5,4,540
1.25,8,1. 1
0.2,5,23.9
0.25,4,112
0.35,0.65,2.8
%35
8,0.8,11
1.2,0.8,5
4.6,5.4,32
99,1,89
2.5,1.25,30
4,8,3
7,3,29
9,1,74
100,0. 65,65. 65

0. 54,0. 46,28

0. 088

8.32

14

21.35

1. 616

37

13.9

11.8

8. 54

22.1

12

7.6

4.8

12.79

22.7

11

16

120

58

190

37.1

10. 7

4. 11

39.39

99

99

£0.5.0.25.3
0.8,0.2,9.9
317,3,32
6.7.3.3,1.4
3100,0.89,89.89
| % 36 W
% 8.4 360
% 8.4 36
16
4
3 8.1 0
% 8.1 0
3 3.5 1.1
3 3.5 960
% 4.2 960
% 4,2 450
3 7.7 45
%7.7 960
34.5 78
72 75
a7 86
%37 W
0.2 0. 31
3.4 1.52
9.9 1.78
0
11 11
7.8 84
77.5 29
0. 36 2060
0.74 0.5
21
3 4. 65 1.5

26

117

229

24

10. 096

1.5

73

27

5080

0. 55

820

7.7

10,028
18,32

0,045

0,077

108
' 15.36

0,085

0,089

168

10,078

L 0. 45

976

93

180

110

50

60

2160

9 9
9 9
6 6.6
8 5.6
6 6
.4 40
7 5.1
6 9
9 8.1
6 7.8
%40
15.2

89

63

3.12

0. 312

312

0.312

0.312

0. 0312

31.2

31.2

0.0312

0. 00312

0. 0312

70

0.4

3.9

4.9

7.2

110

11

2.2

1,03
10.99
6.1

' 65. 33

01
' 43.58

L 0.75

1.39
284
0. 69

1. 56

12.53
3.4

2.7

3.63
1792
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27.3
0.063
0.9

0. 7004
%42

1.9
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5. 44
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